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Part 1. (5%10 = 50 pts)

1) Tim cos(3 + h)- cos(—a—"z-) _
r—0 h
2) A differentiable function fhas the property that f(5)=3 and f'(5)=4. What is the estimate for
f(4.8) using the local linear approximation for f'at x = 5? Answer =

® n

3) Identify all the values of x such that 2 i

n=l

4) What is the third-degree Taylor expansionef*In(l —¥)=at x = 07 Answer =
5) Three graphs labeled I, II, and III are shown below. Oneiis the graph of /, one is the graph of f*, and
one is the graph of f/”". Which one is'the graph of f (I or Il or111)? Answer =

converges. Answer =

4

6) Let f be a function given by, f(x) = ll-l—i for all x > 0. The point of inflection is x =

I
7) Continuing with problem €), hm —
x

8)If f(x)=x"+x+2,then (fF 4 =
9)If f(x)=6x*?-3x"?, the maximum value of f on the interval [-1, 1] =

d
10) If 2x2+3y® =5, then ny— =

Il
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Part I1. (50 pts)

Q1. Find the integral:
(a) Find the arc length of the graph of the equation from P to Q.
y=2(x-1"*; P(1, 0), Q(5, 16)
{b) Find the area of surface obtained by revolving the given curve about the
indicated axis.
y=4-x* on [0, 2; y-axis

Q2. Find the integral:

Q3. Find the inte

Q4. Evaluate t

Q5. Use the de
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